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(English Version)
Instructions :

() First 15 minutes qre allotted for examinees to read this question paper.

(ii)  All questions are compulsory.
(i) This question paper has two Parts A and B.

(iv) Part - A contains 20 multiple choice type questions of 1 mark each that have to be
answered on the OMR Answer Sheet only.

(v)  ARer giving answer on the OMR Answer Sheet do not cut it and do not use eraser,
whitener, ete.

(vi) Part - B contains descriptive type questions of 50 marks.
(vii) There are 5 questions in Part - B,

(viii) In the beginning of each question, it has been clearly mentioned that how many
parts of it are to be attempted.

(ix) Marks allotted to each question are mentioned againstit,.

(x)  Start from the first question and go up to the last question. Do not waste your
time on the question you cannot solve. =~ < : -

(xi) If you need place for rough work, do it on the left pdge of your answer book and
cross (x) the page. Do not\ the solution on that page.

{(xtt) Draw neat and correc re in solution of a question wherever it is necessary,
otherwise in its ab@%t&e solution will be treated as incomplete and wrong.
> |
Part- A

Multiple Choice Questions :

1. I LCM of 26, 156 is 156, then the value of HCF will be : ’ 1
(A) 156 (B) 26
(C) 13 (D) 6

2. Which one of the following is a pair of co-prime numbers ? 1
(A) (14, 35) (B) (18, 25)
(C) (31,93) (D) (32, 62)
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3. The distance between the points (5, 0) and (-12, 0) will be :
(A b (B)y 7
(C) 13 (D) 17

4.  The least number which when divided by 35, 56 and 91 leaves the same
remainder 7 in each case will be :
(A) 3640 (B) 3645
(C) 3647 (D) 3740

5.  The sum of first 15 multiples of 8 will be : /
(A) 960 (B) 980
(C) 984 (D) 990

6.  If one root of quadratic equation x2 + 2¢ — p = 0 is — 2, then the value of p willbe: I
(A) O (B) 1 ) 2 _ (D) 3

7. The co-ordinatés of the point on the x-axis and equidistant from the points (5, - 2)
and (- 3, 2) will be : . 1
@) (0 N B) @ 2)

N
(C) (2,1 NN D) (1,0
Q
3

8.  The nature of the roots of the equation 212 — 5x + 4 = O will be : 1
(A) Real and equal (B) Imaginary (not real)
(C) Real and distinct (D) None of these

9, Two triangles are said to be similar to each other : I
(A) If their corresponding angles are equal
(B) If their corresponding sides are proportional
(C) Both (A) and (B)
(D) None of these

822 (HX) 8
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10. In the figure, A QDC ~ A OBA. Il ZBOC = 125° and £ €DQ = 707, then the value

of £ OAB will be : i
< D C 5
70°
0X)126°
(A) 55° (B) 60° (C) 66" (D) 707
11. Ifsin @ =cos 6 0°< 8 <90° then the value of 4 will be : 1
(A) 60° (B) 45° (Cy 30° (D) 0°
12. The value of S22 will be : ;
cos 75°
(A) 1 (B) 0 (Cy 2 (D -1
13. Ifsin @ - cos @ = 0, then the value of (sin¢ # + cos? @) will be : 1
1 1 3
- B) — C) = D) 1
(A) 7 (B) 3 (&) i
14. The value of (sec A + tan A)\{QSMA will be : 1
(A) secA Jb@nA (C) cosecA (D) cosA
15. In the figure, t@gles of depression of point O as seen from points A and P
are : 1
A P
60°
45°
O B Q
(A) 30° 45¢ (B) 45°, 30°
(C) 45, 60° (D) None of these
822 (HX) 9 PTO.
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1 rpe value of 8in A cos B + cos A sin B

16. Ina tﬁangle A.BC, Z(C = 90" and tan 4 =
3
will be : I
(A) 0 (B) — © 1 D V2
J2
17. The length of the minute hand of a clock is r cm. The area of the sector swept by
the minute hand in one minute will be : 1
2 2 2 r?
(A nr B nr C) ar @) =
: 60° ®) 180° 360° 90
, 1 N he -
18. The whole surface area of a solid hemisphere of diameter 7 = will be : 1
1 3 9
@) trem?  (B) l%n em? (O cmom® (D) mom
19. The mean and median of a frequency distribution are 26-1 and 25-8 respectively.
The value of mode for the distribution will be : 1
(A) 242 (B) 251 (C) 252 (DJ‘ 26-4
i 1
20. The measure of central tendency is :
(A) Frequency (B) “Mean
(C) Median ‘Q\Q'Q\ (D). Both (B) and (C) |
&6
NN Part - B
N
Descriptive Questio@
21. Do all the parts: | |
(a) Given that HOF (99, 153) = 9, find the value of LCM (99, 153). 2
(b) If2cos?45°—1=cos A then find the value of €. 2
(¢c) The distance between the points (4, y) and (12, 3) is 10 units. Find the value
‘ 2
of y. :
(d) Find the relation between x and y such that the point (x, ¥) is equidistant
ro2

from the points (3, 8) and (- 3, 4).

(e) The radius of the base of a right circular cone is 3-5 cm and height is 12 em. )

Find the volume of the cone,

822 (HX) 10
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(0  Find the mean from the following table ; y

—
—— —_—

Class Interval Frequency
0-10 s
0-20 | 10

T w-30 | u
30 - 40 o
40 — 50 7
L

29, Do any five parts:

(a) Find the zeroes of the quad}atic polynomial x2 + 12 + 7x and verify the

relationship between the zeroes and the coefficients. 4
(b) The difference of squares of two numbers is 180. The square of the smaller
number is 8 times the larger number, Find the two numbers. 4
(c) Prove that the angle between the two tangents drawn from an external
point to a circle is su@ementary to the angle subtended by the line
segments joining méz)@%hts of contact to the centre. 4
S .
(@ In the figure, @@03 —0C.. OD. Show that ZA =2 Cand £B=£D. 4
$
C
A
0
D
B
(8)  One card is drawn at random from a well-shuffled deck of 52 cards. Find
the probability that the card drawn is (i) a king, (ii) not a king, ¥
822 (Hx) 11 P.T.O.
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() Find the median of the following frequency distribution :

: Class Interval | Frequency
o 0-10 5

10 - 20 8

20 - 30 20

30 — 40 15

40 - 50 7
| 50-60 5

23. Solve the following pair of equations :
3x—-5y-4=0
9x =2y + 7
OR
The sum of a two-digit number and the number obtained by reversing the order of

its digits is 66. If the digits differ by 2, find the numbher.

24. 'The height of a temple is 15 metres. From the top of the temple, the angle of
elevation of the top of a '@g on the opposite side of the road is 30° and angle
of depression of the @uf the building is 45°. Prove that the height of the
building is 5(3 + V& litietres.

Or
From the top of a building; the angle of elevation of the top of a tower is 60°. From
the top of the building, the angle of depression of the foot of the tower is 45°, If the
height of the tower is 40 metres, then prove that the height of the building is

20(+/3 - 1) metres.

A solid is in the shape of a cone which is surmounted on a hemisphere of same

25.
s of the hemisphere and the cone are equal, find

base radius. If the curved surface
the ratio of radius and height of the cone.

OR
An arc of a circle of radius 21 cm subtends an angle of 60° at the centre. Find the

area of the sector formed by the arc.
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